
Frank Ashe
Consultant, Quantitative Strategies

AustraliaAustralia

Changing Risks, Expecting the Unexpected

17th Global Conference of Actuaries & 2015 AGFA 

2nd & 3rd February, 2015 Mumbai - India





Who’s funding?

Source: Intergenerational Report 2010



◦ tsunami is a loaded word

Andrew Linfoot



Source: UN World Population Ageing 2013



Dividend is 
another 
loadedloaded 
word

ibid



Source: The Economist



Source: Who Will Fund Our Health 2014 – Institute Actuaries (Aust)



Primary questions shouldn’t be about finance

Primary: can we produce and distribute the 
d d i j dgoods and services to meet projected 

demand?
◦ Secondary: can we distribute money to facilitate theSecondary: can we distribute money to facilitate the 

efficient production and distribution of goods and 
services



Projected at 1.6% next 40 years

Source: Intergenerational Report 2010



Projected at 1.6%-1.7% for the future

Source: US CBO - Total Factor 
Productivity Growth in Historical 
Perspective 2013



Australia example – Real GDP per person:

Yes we can!

+1.5% p.a.
Double GDP per person over 40 years

Source: Intergenerational report



GDP growth is not a problem
Productivity is the important factor

We need to distribute the resources 
appropriately
Want to avoid US problem of little rise in realWant to avoid US problem of little rise in real 
income



0.5% p.a
Who took the 
productivity?



Usual perspective – reduce transfer or 
government funding of aged persons’ 
expenditure

BUTBUT
Will an aged society have the demand to 
employ the workers?employ the workers?
Government might need to increase demand 
to keep employment upp p y p
◦ See current debate on secular stagnation



The government is not like a household or a 
company
The economy as a whole is a closed system

M di i ’ i◦ My spending is someone’s income
◦ My saving is their borrowing or capital raising
◦ Government* deficit is more private sector assetsp

Surplus is less private sector assets

* Sovereign government



Private sector needs to net save if we want to 
private sector to provide the future paymentprivate sector to provide the future payment 
for the resources for ageing
This means the government sector runs aThis means the government sector runs a 
deficit
◦ or something happens on the current account.



Q. Why don’t the old people save in the 
i t t ?private sector?

A. What happens when they want the money?  
◦ The younger people have to give it to them byThe younger people have to give it to them by 

maturity of their bonds, buying their equity, 
coupons, dividends.
◦ The usual argument is that we can’t tax the youngThe usual argument is that we can t tax the young 

people enough, but with this method the transfer is 
the same, but via a different means.  What if the 
young want to consume – maybe they don’t buy the y g y y y
equities?  Older people then don’t have the desired 
resources.



Government borrowing by bonds is an 
interest rate swap
◦ Fixed rate for known term for floating cash rate
Different sorts of swaps could meet privateDifferent sorts of swaps could meet private 
demand for financial products to help provide 
retirement income e.g.g
◦ inflation linked payments, 
◦ linked to nominal GDP, 

i i◦ perpetuities



Increase liquidity of non-liquid assets
◦ negative mortgages; 
◦ reduce taxes on transactions
◦ remove legal impediments for securitisation◦ remove legal impediments for securitisation

but strengthen regulation
◦ …

Fully agree



Medical costs as a proportion of GDP does 
not matter - economy is a closed system.
So what if we spend a lot of money on end-
of life care if that's what we decide to doof-life care, if that s what we decide to do.
Over 40 year periods economies change a lot
◦ We can’t predict what will happenWe can t predict what will happen



Beware of subconscious moral judgments 
that interfere with economic decisions

E i d b i l iEconomic debt is not a moral issue
◦ (OTOH moral debts can’t be paid economically)



Beware status snobbery
Caring service jobs that do not require a 
university degree or much training are menial
L i i i i d f dLarge increase in service industry for aged 
care; 
◦ needs workers;needs workers; 
◦ low current pay does not attract workers; 
◦ need to increase wages;
◦ if we want decent aged care this is what we must do



Problems raised with ageing are false 
perspective
Before rushing to solutions we need the 
problem looked at from properproblem looked at from proper
macroeconomic and historical perspective
Don’t worry too muchDon t worry too much


